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(1-5) What should come in Place of ( ? ) in the following Questions ? 

 1) 58% of 842 + ? = 1200 

1) 874.54 

2) 711.64 

3) 674.74 

4) 543.84 

5) None of these Ans 2 

 2) 52% of ? = 3387.28 

1) 6980 

2) 6342 

3) 6718 

4) 6539 

5) None of these Ans 5 

 3) Sq.root of 12321 

1) 111 

2) 121 

3) 81 

4) 91 

5) None of these Ans 1 

 4) 72% of 654 - 41% of 312 = ? 

1) 276.60 

2) 296.72 

3) 336.84 

4) 342.96 

5) None of these Ans 4 

 5) 48 % of 840 = 36% of ? 

1) 1080 

2) 1320 

3) 1240 
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4) 720 

5) None of these Ans 5 

 6) If the Product of two successive positive integers is 6162, which is the smallest integer ? 

1) 78 

2) 72 

3) 76 

4) 74 

5) None of these Ans 1 

 7) The Simple interest accured on an amount of Rs 10,530/- at the end of 5 years is 6318/- what is the rate of 

interest of p.c.p.a ? 

1) 8 

2) 14 

3) 10 

4) 12 

5) None of these Ans 4 

 8) A plot of 640 sq.ft is available at the rate of Rs 4600/- per sq.ft. If 30% of the total cost of the plot is to be 

paid for booking the plot, how much is the booking amount ? 

1) Rs 938100 /- 

2) Rs 883200 /- 

3) Rs 983200 /- 

4) Rs 838100 /- 

5) None of these Ans 2 

 9) A single person take 6 minutes to fill a bottle from 11 am to 12:30 pm. 1845 bottles are to be filled. How 

many persons should be employed on this Job ? 

1) 121 

2) 127 

3) 135 

4) 139 

5) None of these Ans 5 

 10) The Cost of 12 Notebook and 16 pens is Rs 852/-. What is the Cost of 9 Note Books and 12 Pens ? 

1) Rs 743 

2) Rs 639 
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3) Rs 567 

4) Cannot be determined 

5) None of these Ans 4 

 11) If  (93) Square is to be added to the Square of a number the answer so obtained is 16441.What is the 

Number ?1) 67 

2) 73 

3) 89 

4) 91 

5) None of these Ans 5 

 12) The Average Age of a Man and his Son is 18 Years.The ratio of their Ages is 5:1 resp. What will be the ratio 

of their ages after 6 years? 

1) 10:3 

2) 5:2 

3) 4:3 

4) 3:1 

5) None of these Ans 4 

 13) 42 Percent of first no is the 56 Percent of the second no.What is the Respective ratio of the first no to the 

Second no ? 

1) 4:5 

2) 31:42 

3) 4:3 

4) Cannot be determined 

5) None of these Ans 3 

 14) one-fifth of a number is 48.What is the 62% of that no? 

1) 164.66 

2) 148.8 

3) 178.22 

4) 182.44 

5) None of these Ans 2 

 15) If an Amount of Rs 85,470 /- is distribute 

 


